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B |5 JE W 37 40 77 7.2 69.8|=7 TR A /3—
YRS (& FH 5 39 40 79 8.4 70.6|Pvy I N=— XX T — T
3 ||m  k R ORR 41 41 82 10.8 71.2|8°> G425FW5
4 | H E A 43 45 88 16.8 71.2|BSF¥¥T 4—/3\v
5 |H H b/ 41 39 80 8.4 71.6|Watch ACE
6 |A H W 40 40 80 8.4 11.6|Vvy s == RAR YT
TP X E A 42 42 84 12 2132 @i
8 |7 i i 44 45 89 16.8 72.2|7F—~ A f I a—R
9 (& &= o R 46 40 86 13.2 2.8\ T AT T =)L R—)Llr—2R
10 |2 W [ 41 44 85 12 BIFYrv=t FxT v
1| JrE & 42 43 85 12 73
2 |H & O 5 T 41 44 85 12 73
13 |A & B X K 50 46 96 22.8 73.2
4 |F = s 39 38 77 3.6 73.4
15 | = EO%E 42 41 83 9.6 34| F A% TV
6 | K K M HF T 45 44 89 15.6 73.4
17 |#E H = 41 41 82 8.4 73.6
18 | iE A 43 45 88 14.4 73.6
19 |X & X = 43 45 88 14.4 73.6
20 [# W oo 47 47 94 20.4 73.6|ZAPUAL V1 14 —2
21 P Ar B Rl 39 36 75 1.2 73.8
22 | N Fe 42 39 81 7.2 73.8
23[R & %A 48 45 93 19.2 73.8
24 | H = 41 39 80 6 74
25 (4B K R % 44 42 86 12 TA[F] AL IV A 2—X
26 |#& Rk B AT 47 45 92 18 74
21 = BE £ A 54 44 98 24 74
28 |m | ko — 43 42 85 10.8 74.2
29 |% 1] % 44 41 85 10.8 74.2
30 |t = i 45 40 85 10.8 74.2|]JGR YRz
31 (W E A 43 42 85 10.8 74.2
2 1M M & B 46 45 91 16.8 74.2
3| M # =& 44 47 91 16.8 74.2
M |E m A X T 55 48 103 28.8 74.2
3B |k I (/.S 41 37 78 3.6 T4.4|ZA NI Fvo S
36 iE3 1H 44 40 84 9.6 74.4
37 |m RE % 44 40 84 9.6 74.4
38 |1l | & AT 43 41 84 9.6 74.4
39 |H = 3 46 44 90 15.6 74.4
40 1/ 7 B 44 39 83 8.4 14.6|7—~ Y a—Xr—2A
41 (A Il W 43 46 89 14.4 74.6
42 | W & 37 39 76 1.2 74.8
43 |fn H 7 W 39 43 82 7.2 74.8
44 (i W W W OER 40 42 82 7.2 74.8
45 (B B BOK 42 46 88 13.2 48|V == R — R
46 |18 " =M 45 43 88 13.2 74.8
47 (B o X 5 T 47 41 88 13.2 74.8
8 14 A B 44 50 94 19.2 74.8
49 A A E 50 44 94 19.2 74.8
50 B Fn 7 S 39 42 81 6 5|1F YRy A TEYIRTA/N—
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g7 K4 fy | &+ | B | Total | HDCP | xvh H 4
51 |/ R I 44 43 87 12 75

52 |F M B T 41 39 80 4.8 75.2

53 |88 K EH W E 39 41 80 4.8 75.2

54 |Z%& H = 46 40 86 10.8 75.2

5 |[# Ok x - 42 44 86 10.8 75.2|1%¥avoA sulYyT7h 14 —A
56 |f& @ H S 48 44 92 16.8 75.2

57 | H BN 50 42 92 16.8 75.2

58 |t g1 BE X 39 46 85 9.6 75.4

59 ¥ K BHoO% 49 42 91 15.6 75.4

60 | & e R 44 47 91 15.6 75.4[8 ProRf P —

61 |I= P A 53 44 97 21.6 75.4

62 | &= I &’ OIE 49 48 97 21.6 75.4

63 |l v ) 50 47 97 21.6 75.4

64 |#F R e 52 51 103 27.6 75.4

65 M 1 Xt 46 44 90 14.4 75.6|3R /) 87—

66 [ A KR 47 49 96 20.4 75.6

67 B ES EE 49 47 96 20.4 75.6

68 |& 8 G 53 49 102 26.4 75.6

69 |® & % 39 38 77 1.2 75.8

0 |8 H PSS 47 42 89 13.2 75.8|% A A7 LED
s R e & 47 48 95 19.2 75.8

72 |/ BHoO% 38 38 76 0 76

73| HF Bk 48 46 94 18 76

4 |l F moE 43 44 87 10.8 76.2

7% |H ES 1 49 44 93 16.8 76.2[/X—=U— 1> E—T VT
6 |EF W g 42 38 80 3.6 76.4

7 |fn M B Ak 47 39 86 9.6 76.4

78 |k o — 48 44 92 15.6 76.4

79 |H + & i 52 57 109 32.4 76.6

80 |H 7 B T 42 48 90 13.2 76.8|Y 7 —B RAR YT
81 & H + % 44 45 89 12 77

82 28 H W F 44 44 88 10.8 77.2

83 |fn W B & T 43 45 88 10.8 77.2

84 |#H W (A S 48 46 94 16.8 77.2

85 [/ 8 = 51 41 92 14.4 77.6|ZANIAL b

8 (& H [/ 52 46 98 20.4 77.6

87 | W w % 51 53 104 26.4 77.6

88 |&H I Y 43 42 85 7.2 77.8

89 |& I "o — 58 51 109 31.2 77.8

90 |k W [ 49 47 96 18 78| AN AR X7 Ewk
91 |t B * B 50 52 102 24 78

92 (& W % K 46 49 95 16.8 78.2

92 M 7 M 50 45 95 16.8 78.2

94 E B H & F 50 51 101 22.8 78.2

95 |#& K * 51 50 101 22.8 82| BN FruS

96 [/ S g 48 53 101 22.8 78.2

97 [m A mo R 43 45 88 9.6 78.4

98 = H &k 42 46 88 9.6 78.4

99 [l ¥ T 47 47 94 15.6 78.4

100 | WA E - 4F 49 45 94 15.6 78.4| Ay T 4y AL 7 —
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101 |t j# wof 49 49 98 19.2 78.8

102 |af B %X X F 46 45 91 12 79

103 Il o x o E 50 47 97 18 79

04 (B X A E F 52 51 103 24 79

105 |fd i £ 59 50 109 30 9|5 A NI AN R—F

106 |B©O DR 41 49 90 10.8 79.2

107 | X B R 52 44 96 16.8 79.2

108 |/ B (I 49 59 108 28.8 79.2

109 |FF — PN 43 40 83 3.6 79.4

1o (& W O 48 47 95 15.6 719.4{2V 7V R—F

1 |N =R 46 49 95 15.6 79.4

12 (i #K K 47 60 107 27.6 79.4

113 |& B e T 50 44 94 14.4 79.6

14 P B8 b » i 47 47 94 14.4 79.6

15 (i F B v 54 52 106 26.4 79.6|7—7—A—K TP5 14 —2A
116 [ T B 45 46 91 10.8 80.2

117 |84 N 2 47 44 91 10.8 80.2

18 | K Wl s 48 49 97 16.8 80.2

19 |+ = CIN 53 49 102 21.6 80.4

120 |k A T} 49 53 102 21.6 80.4|7 TAX A TA—7

121 [ % = Bm T 60 48 108 27.6 80.4

122 |/ Ak (A3 51 57 108 27.6 80.4

123 Il M W 52 56 108 27.6 80.4

124 |& Bk Me  H] 48 46 94 13.2 80.8

125 (B [ M e 50 53 103 21.6 8LA|TVRHY I TA

126 |2 m™ 7 W 54 48 102 20.4 81.6

127 (b K B 49 46 95 13.2 81.8

128 |& & # & 45 46 91 8.4 82.6

129 | & I ¥) 47 43 90 7.2 82.8

130 (i1 o3 | 54 53 107 24 83|ZANIAR R—)L14 —2A
131 | H H = F 61 62 123 39.6 83.4

132 |k I wo T 51 59 110 26.4 83.6

133 |8 K oot 51 46 97 13.2 83.8

134 |'F I b 52 50 102 18 84

135 |&F K [ 46 54 100 15.6 84.4|F—< H—I v
136 (% H = S 60 58 118 33.6 84.4

137 [A B N & & T 58 60 118 32.4 85.6

138 |2 ik s} 57 54 111 25.2 85.8

139 |7 ik T 53 63 116 30 86

140 [/ & T 53 49 102 15.6 86.4| Vv = Y —<T
141 (g B ¥R 61 47 108 21.6 86.4

142 |iA w1 61 57 118 31.2 86.8

43 |5 ¥ CINE 64 61 125 36 89

BB & A Bt F 68 59 127 36 91| AL— 1/—R
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